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I 1 11:48 | FG |#37 2@ 24 | - - - 713
BX| 2 2:24 |PASS| #1 sEi% — #13 & 11 | K |#96 &R G 14 3
BX| 2 [10:34 |PASS| #1 sk — #13&8% 29 | k [#96 && G 21| 3
BRI 3 3:34 | RUN | #7 Tl 1 K | #96 Bk G 28| 3
BX| 3 5:33 | FG |#96 &R 45 | - ——— - 313
BX| 3 |10:18 | RUN | #7 st 2 | K |#96 B G 38| 3
BK| 4 8:15 | RUN |#91 =% 1 K | #96 &R G 45| 3
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! BAY—F 190 194
v E#—E/Y—F 31 - 115 3 — 159
WE E#—EFY—F 46 — 365 69 — 353
Bl El%% — ¥—F 6 — 25 5 — 20
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BEXZ
Q | BHESAESRY | e TESR | RARM | WIL— | BBME |JL—%| 0% | KTEE e Y—K
1 9:45 9:41 0:04 PBLK -1 1 0 -0 TD 1
7:38 5:36 | 2:02 INT B-30 | 4 0o | B -39 PUNT 9
0:03 0:00 —— KO B -27 - - B -32 - -
2 |12:00 9:36 | 2:27 - B -3 6 2 | -0 ™D 73
3:49 1:26 | 2:23 4DOWN | B - 19 7 4 | I-o0 ™ 81
3| 11:54 8:26 | 3:28 KO B - 31 8 4 | -0 ™D 69
7:25 6:27 | 0:58 FUMR | 3 -30 | 4 0 | 3 -28 FG 2
4:08 1:42 | 2:26 4DOWN | 3I - 40 6 3 | -0 D 40
4| 9:31 3:45 | 5:46 INT B-15 | 1 4 | -0 D 85
1:53 1:44 | 0:09 KO 3 - 40 1 0 | 3I-40 INT 0
THKRF
Q | BAsaRSRR | feTESR | RARERS | WITL— | BB |JL—%| Fom | swTEE e Y—F
1 ]11:55 9:45 | 2:10 KO - 14 6 1 3 - 23 PBLK 9
9:41 7:38 2:03 KO 3 -35 5 2 B-27 INT 38
5:36 0:12 5:24 PUNT 3 -25 1 4 B -7 FG 68
2| 9:30 6:38 2:52 KO 3 - 22 6 1 3 - 12 PUNT -10
6:38 3:49 | 2:49 FUMR | & -43 6 1 B -19 | 4DOWN 24
1:20 0:00 1:20 KO iI-23 | 10 3 | B -37 | 4DOWN 40
3| 8:19 7:25 | 0:54 KO i - 23 3 0 | 3 -30 FUML 7
6:20 4:08 | 2:12 KO -3 4 0 | 3 -40 | 4DOWN 9
1:42 0:00 -— KO iI-3 | — | — | 3-46 - -
4 [ 12:00 9:31 4:11 - i - 46 9 3 | B-23 INT 42
3:37 1:53 | 1:44 KO i - 32 6 4 | B-0 D 68
1:44 0:00 | 1:44 INT -8 7 3 | B-44 INT 48

Q| No | TOGO[PLAY PLAYERS v—F|[#%| Q| No [tz TOGO| PLAY PLAYERS Y—F| 1R
1l 1 |8 39 1 |PASS| %05 — EEE [ 0 | x 1 1 | 32 10| RUN | &3 -9 | x
2| 2 |® 31 [ 13 |PASS| %5 — JLFvf 25| O 2 [& 15| 2 | RUN * 1 x
3|2 9| 6| RUN #* 2 | x
3 3 | 21 2 | RUN [ T 3|0 2[ 4 [ 10| 33| RUN | 341 2 | x
4 [ 28 | 8 |PASS| L5 — - % 5 |2 24| 10 | RUN | &% 7| %
4 5 |&z 33 | 4 | RUN| 3tk 3 [ x 6 [z 43| 1 [ PASS | &3 - — | x
7 |® 35| 10 [ PASS | &% — - %
3 8 (& 25| 8 | PASS | & — I | 5 |FUM
9 [z 40| 1 RUN | 3%7r -2 | x
4| 10 |3z 46| 9 | RUN | F4T 14 [ O
11 (8 23| 6 | PASS | &8 — — [ INT
12 |8 24| 5 | RUN | FeiT 0] O
13 | 13| 5 |PASS | &% — Wi | 8 | O
m | 5 [mmm| 2 [mmwE] 00 ma | 13 | mmm [ 3 [mmE] 2w
AET)UTORIE  RUERCEAFEA
Q| No [z TOGO|PLAY PLAYERS Y—k| #8| [Q| No [£z TOGO| PLAY PLAYERS —FK| 8
4 1 | 30 [ 1 | RUN|[ FEib 1O 1l 1 |8 14| 1t | RUN | 7% 1|0
2| 2 |8 17| 3 | RUN | Feir -2 | x
3 |8 35| 10 | RUN | #¥ -2 | x
3 4 [ 38| 3 | RUN | &y 2 | x
ma |1 [mmm| 1 [mmw] 1000 ma | 4 [ mmm [ 1 [mmw] 2508
Al
Q| No [ TIME RAI%& y—r Q| No [ TIME RAI%& ¥—F
1|1 941 [FU—FVIBOTYRFTAYIUX| 5 2| 1| 8:49 |[K—nTFay 10
2| 2 | 10:27 |F4LA4ATH—L 5 2 | 1:26 [#794 K DEC
3| 9:36 [k—nFary 10 3| 0:06 [1y—HLTH—t—a> DEC
4 | 317 |[w=nFary DEC
5 0:32 |Sv=v¥bw—¥Fxuh— 5 3| 4 1:18 |7+ LRARE— 5
4/ 5 | 1:53 |FREHTAYY 5
3 6 | 1:42 |2U—FvIBOTYRAFTAYLZ| —
(B3 6 flBY—F 25 B 5 flBY—F 20
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